FX9750Gii: Expectation Algebra and L.ists.

This resource was written by Derek Smith with the support of CASIO New Zealand. It may be freely
distributed but remains the intellectual property of the author and CASIO.

Select STAT mode from the main menu by using the arrow keys to highlight

the STAT icon or pressing 2.

e
nun

THALY MENU s
Mﬁ ':-THT GRHF‘H DYHH

s

THBLE RECUR Cl:lHH:S EQUH
F‘RGM T'v'rF"IF E c-:-Ha LIHK
b JokLd Sl ks

Expectation algebra

mean (A + B) = mean A + mean B
mean (nA) = n x mean (A)

mean (A - B) = mean A - mean B

Var (A + B) = VAR(A) + VAR(B)
VAR (nA + mB) = n?VAR(A) + m*VAR(B)
VAR (nA - mB) = n2VAR(A) + m*VAR(B)

There are 26 columns and each can have up to 999 entries i.e. 999 rows.
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Enter in the numbers 1, 2, 3, 4,5, 6, 7, 8, 9 and 10 into List 1.
As shown below, press EXE after each entry and the cursor will move down to the next row.
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Now, move the cursor with the arrows so that it is ‘sitting” over the i

List 2 as shown here:

What we want to do is multiply List 1 entries by 2, so press 2, then
x, then OPTN, then F1, for List and F1 again so that the word ‘List’

appears on the screen - see diagram:

Now press 1, then EXE.
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The list values in List 1 have been doubled, and can be seen in List 2.
Now view the summary statistics of List 1 and List 2 data [compare with List 1 data].
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You can see that these follow the Expectation Algebra rules.

For further tips, more helpful information and software support visit our websites
WWWw.casio.edu.monacocorp.co.nz or http://graphic-technologies.co.nz



http://www.casio.edu.monacocorp.co.nz/

